Year 11 Geography Home working September 2020 – Please complete up to and including page 7 as this is what is being covered in your Geography lessons over the next two weeks. 
If you want to do more and have the time keep on going!
Use your revision guide and/ or www.coolgeography.co.uk to fill in all sections.
If you don’t have these please email
oMann@holytrinitybarnsley.org
jCowgill@holytrinitybarnsley.org






[image: Image result for fairtrade]Paper 2: Challenges in the human environment
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· The changing economic world – Question 2






[bookmark: _GoBack]The Changing Economic World – Q2

There are global variations in economic development and quality of life
What is development?
_____________________________________________________________________
The Brandt Line (shown on the map) divides the world into developed and developing countries. Describe the location of the developed and developing countries.
[image: Image result for brandt line]___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
List the measures of development that are used to classify countries and give a brief definition. The list has been started for you:
· GNI (Gross National Income) __________________________________________
· HDI (Human Development Index) _______________________________________
· Literacy rate ______________________________________________________
· ________________________________________________________________
· ________________________________________________________________
· ________________________________________________________________
· ________________________________________________________________
[image: Image result for death rate cartoon]What are the limitations of these measures of development? I.e. why can they not be trusted entirely?
______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

[image: Image result for demographic transition model]The demographic transition model (DTM) shows changes over time in the population of a country. As a country develops it should move through the stages of the model. 
How does a falling birth rate (fewer children) reflect increased economic development?
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
[image: Image result for old people]How does an increasing death rate reflect high levels of development?
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
[image: Image result for trade][image: Image result for colonisation]Briefly outline 5 factors that cause uneven development (there should be at least one physical, one economic and one historical): 
· ________________________________________________________________________________________________________________________________________________
· ________________________________________________________________________________________________________________________________________________
· ________________________________________________________________________________________________________________________________
· ________________________________________________________________________________________________________________________________
· ________________________________________________________________________________________________________________________________
What does the word ‘disparity’ mean?
_____________________________________________________________________

Briefly outline how the factors below are caused by uneven development:
	Consequence: disparities in wealth
	Consequence: disparities in health
	Consequence: international migration

	[image: Image result for money cartoon]
	[image: Image result for mosquito]
	[image: Image result for migration of people]





Various strategies exist for reducing the global development gap
What is the development gap?
__________________________________________________________________________________________________________________________________________
[image: Image result for development gap]What message does this image show?
___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Complete the table below outlining what each strategy involves and how it will help to improve the development of LICs:
	Strategy
	What does it involve?
	How will this reduce the development gap?

	
Investment
	
	

	
Industrial development
	
	

	
Tourism
	
	

	
Aid
	
	

	
Intermediate technology
	
	

	
Fairtrade
	
	

	
Debt relief
	
	

	
Microfinance loans
	
	


An example of how the growth of tourism in a LIC or NEE helps to reduce the development gap: Kenya

List 5 attractions that Kenya has that will attract tourists to the country:
· ________________________________________________________________
· ________________________________________________________________
· ________________________________________________________________
· ________________________________________________________________
· ________________________________________________________________
[image: C:\Users\oMann\AppData\Local\Microsoft\Windows\INetCache\Content.MSO\85B2501F.tmp]
List 5 advantages and 5 disadvantages (be specific) of tourism in Kenya – how does it help to reduce the development gap, but why is it not entirely perfect?
	Advantages
	Disadvantages

	
	

	
	

	
	

	
	

	
	




Some LICs and NEEs are experiencing rapid economic development which leads to significant social, environmental and cultural change
[image: ]A case study of a NEE: Nigeria, Africa
Describe the location of Nigeria (using geographical terminology).
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Why is it such an important country globally? What does it contribute to the world?
_______________________________________________________________________________________________________________________________________________________________________________________________________________
Why it one of the most important countries in Africa?
_______________________________________________________________________________________________________________________________________________________________________________________________________________








Complete the mind map showing the political, social, cultural and environmental aspects of Nigeria:
POLITICAL

ENVIRONMENTAL
CULTURAL
SOCIAL
Context of Nigeria










[image: ]Describe how Nigeria’s economy has changed using the pie charts below:
_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
How does the growth in manufacturing affect Nigeria’s economic development?
_________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

[image: Image result for kfc]What is a TNC?
[image: Image result for Shell]______________________________________________________________
Why do TNCs like Shell and KFC locate in Nigeria? (Mainly Shell) 
· ________________________________________________________________
· ________________________________________________________________
· ________________________________________________________________
Complete the table below showing the advantages and disadvantages of TNCs in Nigeria:
	Advantages
	Disadvantages 

	
	

	
	

	
	

	
	



How has the presence of KFC and Shell Oil in Nigeria stimulated industrial development?
______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
[image: Image result for colonial africa]How has Nigeria’s political links with the rest of the world changed since the 1960s when it gained independence?






____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
What does Nigeria contribute in terms of trade to the rest of the world?
[image: Image result for lagos port]_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
What is aid?
_____________________________________________________________________
When would a country receive emergency aid?
_____________________________________________________________________
When would a country receive developmental aid?
_____________________________________________________________________
Why does Nigeria need aid? Give 3 reasons:
· ________________________________________________________________
· ________________________________________________________________
· ________________________________________________________________
[image: Image result for aid in nigeria]
How does aid benefit Nigeria and what prevents this aid being used effectively?



	Benefits of aid to Nigeria
	Why aid may not be effective in Nigeria

	
	

	
	

	
	

	
	



Outline how economic growth can have a negative effect on the environment:

Industrial growth leads to _________________________________________________ _____________________________________________________________________ _____________________________________________________________________
Urban growth leads to ____________________________________________________ __________________________________________________________________________________________________________________________________________
Mining and oil extraction leads to ____________________________________________ __________________________________________________________________________________________________________________________________________
[image: Image result for air pollution lagos][image: Image result for mining nigeria]









Has people’s quality of life in Nigeria improved as a result of economic development?
	Yes it has improved
	No it has not improved

	
	

	
	

	
	

	
	


[image: Image result for quality of life icon][image: Image result for quality of life icon][image: Image result for quality of life icon][image: Image result for quality of life icon][image: Image result for quality of life icon][image: Image result for quality of life icon]



Major changes in the economy of the UK have affected, and will continue to affect, employment patterns and regional growth
Outline how the UK’s employment structure has changed since 1800 (i.e. primary, secondary, tertiary and quaternary industries).
_________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________






Why has it changed in this way? Complete the table below outlining the impact of each factor on the UK economy:
	De-industrialisation
	Globalisation
	Government Policies

	[image: Image result for derelict factory oldham]
	[image: Image result for globalisation]
	[image: Related image]



What is a post-industrial economy?
_____________________________________________________________________
How has the development of IT affected the growth and characteristics of the UK’s economy?
___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________







Outline how service industries, finance and research affect the UK economy:
	Service industries and finance
	Research

	
	



What is a science park?
_____________________________________________________________________
What is a business park?
_____________________________________________________________________
[image: Image result for science park cambridge]How do science and business parks provide opportunities for regional economic growth?
_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________





What are the impacts of industry on the physical environment?
· [image: Related image]__________________________________________________________________________
· __________________________________________________________________________
· __________________________________________________________________________
· __________________________________________________________________________


Complete the mind map to show 4 ways in which industrial development can be more sustainable:




Sustainable strategies







An example of how modern industrial development can be more environmentally sustainable: Cambridge Science Park 
· ________________________________________________________________________________________________________________________________
· ________________________________________________________________________________________________________________________________
· ________________________________________________________________________________________________________________________________
· ________________________________________________________________________________________________________________________________
· ________________________________________________________________________________________________________________________________
[image: Image result for cambridge science park]





Rural landscapes are changing in the UK; some areas are experiencing rapid population growth as people are moving out into the countryside for a more peaceful life, whereas other areas are experiencing population decline.
What are the social and economic impacts of a growing population and a declining population?
	
	Social effects
	Economic effects

	
Growing population
	
	

	
Declining population
	
	



Improvements to transport infrastructure affect both employment and regional growth. Outline some of the improvements being made to the UK’s transport links:
	Type of Transport 
	Improvements made

	[image: Image result for smart motorway]Road improvements
	

	Railway improvements[image: Image result for hs2]
	

	[image: Image result for uk port]Developing ports
	

	[image: Image result for heathrow airport]Airport developments
	



[image: Image result for north south divide uk]What is the north-south divide?
________________________________________________________
Give 2 reasons why there is a north-south divide:
· ___________________________________________________
       ___________________________________________________
· ___________________________________________________	___________________________________________________






List 5 ways in which these regional differences can be resolved (try to give some specific examples of strategies used in the UK):
· ________________________________________________________________
· ________________________________________________________________
· ________________________________________________________________
· ________________________________________________________________
· ________________________________________________________________
How can improved transport links help reduce the north-south divide?
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
The UK has global links through trade, culture, transport and electronic communications. Briefly outline information for each on the mind map below:

Trade


Electronic communication
Transport
Culture
UK global links





	
[image: Image result for european union map]In 1973 the UK became a member of the European Union (EU). It includes 28 countries and has important trading and political influence. In 2016, however, the UK voted to leave the EU and is currently leaving.
[image: Image result for eu]




How has the EU affected the UK?
· ________________________________________________________________________________________________________________________________
· ________________________________________________________________________________________________________________________________
· ________________________________________________________________________________________________________________________________

The UK is a member of the Commonwealth which is a voluntary group of 53 countries and 2.2 billion people. 
How does the UK benefit from being in the Commonwealth?
· ________________________________________________________________________________________________________________________________
· ________________________________________________________________________________________________________________________________
[image: Image result for commonwealth][image: Image result for commonwealth games]
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